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2b. A contour map cannot end anywhere but close on themselves either within or outside the limits of a map.
[image: 8d835782-91a7-4f0f-93e0-3780ae9e35af]

A series of close contours on a map represents a hill if the higher values are inside as shown;
[image: 3d30338c-7bc7-40bb-97c0-ceb609650779]

A series of closed contour lines on a map indicates a depression if the higher values are outside as shown below;
[image: 43d49461-0897-41a9-a90f-9da4715d5314]
A contour line crfosses a ridge or valley at the right angle. If the higher values are inside the bend or loop in the contour, it represents a ridge but if the higher values are outside, it represents a valley;
[image: 9d56b843-7baf-43dd-a0f3-6c6b2aa9d8f7]
Contour lines cannot merge or cross one another on a map except in the case of an overhanging cliff;
[image: a9c62425-b6ab-4c2f-8fc9-9fc479c8f7c5]

Please zoom in the view pictures clearly.
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